Extended Upper Sets in *BE*-Algebras

 $^1\mathrm{Hee}$ Sik Kim and $^2\mathrm{Kyoung}$ Ja Lee

¹Department of Mathematics, Hanyang University, Seoul 133–791, Korea ²Department of Mathematics Education, Hannam University, Daejeon 306–791, Korea ¹heekim@hanyang.ac.kr, ²kjlee@hnu.kr

Abstract. As a generalization of a BCK-algebra, a BE-algebras was introduced. In this paper, we investigate several properties of upper sets in BEalgebras, and we introduce more extended upper sets of BE-algebras, and obtain some relations with filters of BE-algebras. Also, the notion of Krull dimension of a BE-algebra and the notion of regular sequence in a BE-algebra are introduced.

2010 Mathematics Subject Classification: 03G25, 06B10, 06E10

Keywords and phrases: $BE\-$ algebra, filter, upper set, Krull dimension, regular sequence.

1. Introduction

The study of BCK/BCI-algebras was initiated by Iséki as a generalization of the concept of set-theoretic difference and propositional calculus [2, 3]. In [6], Neggers and Kim introduced the notion of *d*-algebras which is a generalization of BCK-algebras. Moreover, Jun, Roh and Kim [4] introduced a new notion, called a *BH*-algebra, which is a generalization of BCK/BCI-algebras. Recently, as another generalization of BCK-algebras, the notion of a *BE*-algebra was introduced by Kim and Kim [5]. They provided an equivalent condition of the filters in *BE*-algebras using the notion of upper sets. In [1], Ahn and So gave several descriptions of ideals in *BE*-algebras, and we introduce more extended upper sets of *BE*-algebras, and obtain some relations with filters of *BE*-algebras. Also, the notion of *BE*-algebras are introduced.

Communicated by Lee See Keong.

Received: January 23, 2009; Revised: December 30, 2009.

2. Preliminaries

By a *BE-algebra* we mean an algebra (X; *, 1) of type (2, 0) satisfying the following identities: for any $x, y, z \in X$,

(BE1) x * x = 1;(BE2) x * 1 = 1;(BE3) 1 * x = x;(BE4) x * (y * z) = y * (x * z).

The *BE*-algebra determines an relation on *X*: $x \le y \Leftrightarrow x * y = 1$ [5].

Definition 2.1. [5] A non-empty subset F of a BE-algebra X is called a filter of X if

- (F1) $1 \in F$;
- (F2) $x * y \in F$ and $x \in F$ implies $y \in F$.

Example 2.1.

- (1) Let X be a finite (or infinite) set with element 1. Define a binary operation on X as follows: for any $x, y \in X$, x * y = 1 if x = y and x * y = y if $x \neq y$. Then (X; *, 1) is a *BE*-algebra, and every non-empty subset containing 1 is a filter of X.
- (2) Let $X := \{1, a, b, c\}$ be a set with the following Cayley table:

Then (X; *, 1) is a *BE*-algebra. Also, $\{1, a\}$ and $\{1, b\}$ are filters of X, but $\{1, c\}, \{1, a, b\}, \{1, a, c\}$ and $\{1, b, c\}$ are not filters of X.

(3) Let $X := \{1, a, b, c, d\}$ be a set with the following Cayley table:

*	1	a	b	c	d
1	1	a	b	С	d
a	1	1	b	c	d
b	1	a	1	c	c
c	1	1	b	1	b
d	1	$egin{array}{c} a \\ 1 \\ a \\ 1 \\ 1 \end{array}$	1	1	1

Then (X; *, 1) is a *BE*-algebra [5]. It is easy to see that $\{1, a\}, \{1, a, b\}$ and $\{1, a, c\}$ are filters of X, but $\{1, a, b, c\}$ is not a filter of X.

(4) Let $X := \{1, a, b, c, d, 0\}$ be a set with the following Cayley table:

*	1	a	b	c	d	0
1	1	a	b	С	d	0
a	1	1	a	c	c	d
b	1	1	1	c	c	c
c	1	a	b	1	a	b
d	1	1	a	1	1	a
0	1	$egin{array}{c} a \\ 1 \\ 1 \\ a \\ 1 \\ 1 \end{array}$	1	1	1	1

Then (X; *, 1) is a *BE*-algebra, and $\{1, a, b\}$ is a filter of X, but $\{1, a\}$ is not a filter of X [5].

Proposition 2.1. Let X be a BE-algebra. If F_i are filters of X, then $\bigcap_{i \in I} F_i$ is a

filter of X.

Proof. Straightforward.

3. Upper sets

Let X be a *BE*-algebra. For any $x, y \in X$, we define

 $A(x) := \{ z \in X \mid x * z = 1 \} \text{ and } A(x, y) := \{ z \in X \mid x * (y * z) = 1 \}.$

The set A(x) (resp. A(x, y)) is called an *upper set* of x (resp. of x and y). Obviously, 1, $x \in A(x)$ and 1, $x, y \in A(x, y)$. We know that $A(1) = \{1\}$ is always a filter of X. But the sets A(x) and A(x, y) need not be filters of X in general, since $A(a) = A(a, 1) = \{1, a\}$ is not a filter of X in Example 2.1(4).

Example 3.1.

- (1) Consider a *BE*-algebra X in Example 2.1(1). For any $x, y \in X$, we have that $A(x) = \{1, x\}$ and $A(x, y) = \{1, x, y\}$. Also, every upper set in X is a filter of X.
- (2) Let X be a *BE*-algebra in Example 2.1(2). Then $A(1) = \{1\}$, $A(a) = A(a, 1) = A(a, a) = \{1, a\}$, $A(b) = A(b, 1) = A(b, b) = \{1, b\}$, and A(c) = A(c, 1) = A(c, c) = A(a, b) = A(a, c) = A(b, c) = X.
- (3) In Example 2.1(3), we obtain that $A(a) = \{1, a\}, A(c) = \{1, a, c\}, A(a, b) = \{1, a, b\}, A(b, c) = X$, etc.

Proposition 3.1. If X is a BE-algebra, then $A(x) \subseteq A(x,y)$ for any $x, y \in X$.

Proof. Let $z \in A(x)$. Then x * z = 1. By (BE2) and (BE4), we have that x * (y * z) = y * (x * z) = y * 1 = 1, and hence $z \in A(x, y)$.

Proposition 3.2. Let X be a BE-algebra and $x \in X$. Then

$$A(x) = \bigcap_{y \in X} A(x, y).$$

Proof. By Proposition 3.1, we have $A(x) \subseteq \bigcap_{y \in X} A(x, y)$. If $z \in \bigcap_{y \in X} A(x, y)$, then $z \in A(x, y)$ for any $y \in X$, and so $z \in A(x, 1)$. Hence 1 = x * (1 * z) = x * z, which proves $z \in A(x)$. This means that $\bigcap_{y \in X} A(x, y) \subseteq A(x)$.

Using Proposition 3.1 and Proposition 3.2 we obtain the following:

Corollary 3.1. Let X be a BE-algebra. Then for any $x \in X$, we have that $A(x) = A(x,1) = \bigcap_{y \in X} A(x,y)$.

Proposition 3.3. If X is a BE-algebra, then A(x, y) = A(y, x) for any $x, y \in X$. *Proof.* It follows immediately from (BE4).

Proposition 3.4. Let X be a BE-algebra and $\alpha \in X$. Then the followings are equivalent:

(i) α ≤ x for any x ∈ X,
(ii) X = A(α),
(iii) X = A(α, x) = A(x, α) for any x ∈ X.

Proof. (i) \iff (ii) Straightforward.

- (ii) \implies (iii) $X = A(\alpha) \subseteq A(\alpha, x) \subseteq X$, by Proposition 3.1.
- (iii) \implies (ii) $X = A(\alpha, 1) = A(\alpha)$, by Corollary 3.1.

Using the notion of upper set A(x, y), H. S. Kim and Y. H. Kim obtained an equivalent condition of the filter in *BE*-algebras.

Theorem 3.1. [5] Let F be a non-empty subset of a BE-algebra X. Then F is a filter of X if and only if $A(x, y) \subseteq F$ for any $x, y \in F$.

From this theorem and Proposition 3.1 we immediately obtain the following result.

Corollary 3.2. Let X be a BE-algebra. If F is a filter of X, then $A(x) \subseteq F$ for any $x \in F$.

However, the converse of Corollary 3.2 need not be true in general. In Example 2.1(4), $F := \{1, a\}$ contains A(1) and A(a), but F is not a filter of X.

Theorem 3.2. [5] If F is a filter of a BE-algebra X, then $F = \bigcup_{x,y \in F} A(x,y)$.

Corollary 3.3. [5] If F is a filter of a BE-algebra X, then

$$F = \bigcup_{x \in F} A(x, 1).$$

Corollary 3.4. If F is a filter of a BE-algebra X, then $F = \bigcup_{x \in F} A(x)$.

Proof. By Corollary 3.1 and Corollary 3.3, we have that

$$F = \bigcup_{x \in F} A(x, 1) = \bigcup_{x \in F} A(x).$$

Definition 3.1. [5] A BE-algebra (X; *, 1) is said to be self distributive if x*(y*z) = (x*y)*(x*z) for any $x, y, z \in X$.

The *BE*-algebras X in Example 2.1(1), (2) and (3) are self distributive, but the *BE*-algebra X in Example 2.1(4) is not self distributive, since $d * (a * 0) \neq (d * a) * (d * 0)$.

Theorem 3.3. [5] Let X be a self distributive BE-algebra. Then the upper set A(x, y) is a filter of X for any $x, y \in X$.

Combining Proposition 2.1 and Proposition 3.2 with Theorem 3.3, we have the following result.

Corollary 3.5. If X is a self distributive BE-algebra, then the upper set A(x) is a filter of X for any $x \in X$.

We discuss some relations between A(x) and A(x, y) in a self distributive *BE*-algebra.

Proposition 3.5. Let X be a self distributive BE-algebra and let $x, y \in X$. Then $y \in A(x)$ if and only if A(x) = A(x, y).

Proof. Assume that $y \in A(x)$. Then x * y = 1. By Proposition 3.1, $A(x) \subseteq A(x, y)$. For any $z \in A(x, y)$, we have 1 = x * (y * z) = (x * y) * (x * z) = 1 * (x * z) = x * z, and so $z \in A(x)$. Hence A(x) = A(x, y). Conversely, if A(x) = A(x, y), then $y \in A(x, y) = A(x)$.

From this proposition we obtain the fact that $y \notin A(x)$ if and only if $A(x) \subsetneqq A(x,y)$. In Example 3.1(3), we observe that $A(c) = \{1, a, c\} = A(c, 1) = A(c, a) = A(c, c), A(c) \subsetneqq A(c, b) = X$, and $A(a) = \{1, a\} \subsetneqq A(a, b) = \{1, a, b\}$.

Theorem 3.4. Let X be a self distributive BE-algebra and let $x, y \in X$. Then $x \leq y$ if and only if $A(y) \subseteq A(x)$.

Proof. Let $x \leq y$. Then x * y = 1. For any $z \in A(y)$, we have y * z = 1. It follows from the self distributive law that x * z = 1 * (x * z) = (x * y) * (x * z) = x * (y * z) = x * 1 = 1, and so $z \in A(x)$. Hence $A(y) \subseteq A(x)$. Conversely, if $A(y) \subseteq A(x)$, then $y \in A(x)$, and hence $x \leq y$.

In Example 2.1(2), we see that there exists only $c \leq a$ and $c \leq b$ except trivial cases. Also, we observe that there exists only $A(a) \subseteq A(c)$ and $A(b) \subseteq A(c)$ except trivial cases. See Example 3.1(2).

Corollary 3.6. Let X be a self distributive BE-algebra and let $x, y \in X$. Then $x \leq y$ and $y \leq x$ if and only if A(y) = A(x).

Example 3.2. Let $X := \{1, a, b, c\}$ be a set with the following Cayley table:

*	1	a	b	c
1	1	a	b	c
a	1	1	b	1
b	1	c	1	c
c	1	1	b	1

Then we see that (X; *, 1) is a self distributive *BE*-algebra. Here, it is easy to obtain that $a \leq c, c \leq a$ and $A(a) = A(c) = \{1, a, c\}$.

4. Extended upper sets

In this section, let X and \mathbb{N} denote a *BE*-algebra and the set of all positive integers, respectively, unless otherwise specified.

For any elements $x_1, x_2, \cdots, x_n \in X$ and $n \in \mathbb{N}$, we define

$$A(x_1, x_2, \cdots, x_n) := \{ z \in X \mid \prod_{i=1}^n x_i * z = 1 \},\$$

where $\prod_{i=1}^{n} x_i * z := x_n * (x_{n-1} * (\dots * (x_1 * z) \dots)))$. We call it an *extended upper set* of x_1, x_2, \dots, x_n . It follows from (BE4) that

$$x_n * (x_{n-1} * (\dots * (x_1 * z) \dots)) = x_1 * (x_2 * (\dots * (x_n * z) \dots))$$

for any $x_1, x_2, \dots, x_n \in X$. Obviously, 1, $x_i \in A(x_1, x_2, \dots, x_n)$ for any $i = 1, 2, \dots, n$. For example, we observe that

$$A(x_1, x_2, \cdots, x_n) = \{1, x_1, x_2, \cdots, x_n\}$$

in Example 2.1(1), and A(a, b, c) = A(a, b, d) = A(a, c, d) = X in Example 2.1(3).

Proposition 4.1. For any $x_1, x_2, \dots, x_n \in X$ and $n \in \mathbb{N}$, we have

 $A(x_1) \subseteq A(x_1, x_2) \subseteq \cdots \subseteq A(x_1, x_2, \cdots, x_n).$

Proof. For any $k = 1, 2, \dots, n-1$, let $z \in A(x_1, x_2, \dots, x_k)$. Then $\prod_{i=1}^k x_i * z = 1$, and hence $\prod_{i=1}^{k+1} x_i * z = x_{k+1} * (\prod_{i=1}^k x_i * z) = x_{k+1} * 1 = 1$, proving that $z \in A(x_1, x_2, \dots, x_{k+1})$. This completes the proof.

Proposition 4.2. For any $x_1, x_2, \dots, x_n, y \in X$ and $n \in \mathbb{N}$, we have

$$A(x_1, x_2, \cdots, x_n) = \bigcap_{y \in X} A(x_1, x_2, \cdots, x_n, y)$$

Proof. Let $z \in \bigcap_{y \in X} A(x_1, x_2, \cdots, x_n, y)$. Then $z \in A(x_1, x_2, \cdots, x_n, y)$ for any $y \in A(x_1, x_2, \cdots, x_n, y)$ for any $y \in A(x_1, x_2, \cdots, x_n, y)$.

X, and so $z \in A(x_1, x_2, \dots, x_n, 1)$. Thus we have $1 = \prod_{i=1}^n x_i * (1 * z) = \prod_{i=1}^n x_i * z$. This means that $z \in A(x_1, x_2, \dots, x_n)$. The converse of the proof follows from Proposition 4.1.

Similarly, the following result holds by using Proposition 4.1 and Proposition 4.2.

Corollary 4.1. For any $x_1, x_2, \dots, x_n, y \in X$ and $n \in \mathbb{N}$, we obtain that

$$A(x_1, x_2, \cdots, x_n) = A(x_1, x_2, \cdots, x_n, 1) = \bigcap_{y \in X} A(x_1, x_2, \cdots, x_n, y).$$

Proposition 4.3. Let $x_1, x_2, \dots, x_n \in X$ and $n \in \mathbb{N}$. Then we have

$$A(x_1, x_2, \cdots, x_n) = A(x_{\sigma(1)}, x_{\sigma(2)}, \cdots, x_{\sigma(n)}),$$

where σ is a permutation on $\{1, 2, \dots, n\}$.

Proposition 4.4. For $\alpha \in X$, the followings are equivalent:

(i) $\alpha \leq x$ for any $x \in X$, (ii) $X = A(\alpha)$, (iii) $X = A(\alpha, x_1, x_2, \cdots, x_n) = A(x_1, \alpha, x_2, \cdots, x_n) = \cdots$ $= A(x_1, x_2, \cdots, x_n, \alpha)$ for any $x_1, x_2, \cdots, x_n \in X$.

The proof of Proposition 4.3 is straightforward and the proof of Proposition 4.4 is similar to Proposition 3.4.

The next theorems are similar to Theorem 3.1, Theorem 3.2 and Theorem 3.3.

Theorem 4.1. Let F be a non-empty subset of X and $n \in \mathbb{N}$. Then F is a filter of X if and only if $A(x_1, x_2, \dots, x_n) \subseteq F$ for any $x_1, x_2, \dots, x_n \in F$, where $n \geq 2$.

Proof. Assume that F is a filter of X. If $z \in A(x_1, x_2, \dots, x_n)$, then $\prod_{i=1}^n x_i * z = 1 \in F$. Since each $x_i \in F$, by (F2), $z \in F$. Conversely, let $A(x_1, x_2, \dots, x_n) \subseteq F$ for any $x_1, x_2, \dots, x_n \in F$, where $n \ge 2$. Then $A(x_1, x_2) = A(x_1, x_2, 1, \dots, 1) \subseteq F$ for any $x_1, x_2 \in F$. By Theorem 3.1, F is a filter of X.

Remark 4.1. The necessity of Theorem 4.1 always holds for any $n \in \mathbb{N}$. But the sufficiency of Theorem 4.1 does not hold when n = 1. See Corollary 3.2 below.

Theorem 4.2. If F is a filter of X and $n \in \mathbb{N}$, then

$$F = \bigcup_{x_i \in F} A(x_1, x_2, \cdots, x_n).$$

Proof. Let F be a filter of X. By Theorem 4.1, $A(x_1, x_2, \dots, x_n) \subseteq F$ for any $x_1, x_2, \dots, x_n \in F$, and hence $\bigcup_{x_i \in F} A(x_1, x_2, \dots, x_n) \subseteq F$. Also, it follows from Corollary 3.4 and Corollary 4.1 that

$$F = \bigcup_{x \in F} A(x) = \bigcup_{x \in F} A(x, 1, \cdots, 1) \subseteq \bigcup_{x_i \in F} A(x_1, x_2, \cdots, x_n).$$

Theorem 4.3. If X is self distributive, then $A(x_1, x_2, \dots, x_n)$ is a filter of X for any $x_1, x_2, \dots, x_n \in X$ and $n \in \mathbb{N}$.

Proof. Clearly $1 \in A(x_1, x_2, \dots, x_n)$. Let $x * y \in A(x_1, x_2, \dots, x_n)$ and $x \in A(x_1, x_2, \dots, x_n)$. Then $\prod_{i=1}^n x_i * (x * y) = 1$ and $\prod_{i=1}^n x_i * x = 1$. It follows from the self distributive law that

$$1 = \prod_{i=1}^{n} x_i * (x * y) = \left(\prod_{i=1}^{n} x_i * x\right) * \left(\prod_{i=1}^{n} x_i * y\right)$$
$$= 1 * \left(\prod_{i=1}^{n} x_i * y\right) = \prod_{i=1}^{n} x_i * y,$$

and hence $y \in A(x_1, x_2, \dots, x_n)$. This proves that $A(x_1, x_2, \dots, x_n)$ is a filter of X for any $x_1, x_2, \dots, x_n \in X$ and $n \in \mathbb{N}$.

Proposition 4.5. Let X be self distributive and let $x_1, x_2, \dots, x_n, y \in X$ and $n \in \mathbb{N}$. Then $y \in A(x_1, x_2, \dots, x_n)$ if and only if $A(x_1, x_2, \dots, x_n) = A(x_1, x_2, \dots, x_n, y)$.

Proof. The proof is similar to Proposition 3.5.

Proposition 4.6. Let X be self distributive and let $x_1, x_2, \dots, x_n \in X$ and $n \in \mathbb{N}$. If $x_1 \leq x_2 \leq \dots \leq x_n$, then we have

$$A(x_1) = A(x_1, x_2) = \dots = A(x_1, x_2, \dots, x_n).$$

Proof. If $x_1 \leq x_2$, then $x_1 * x_2 = 1$, and so $x_2 \in A(x_1)$. By Proposition 4.5, $A(x_1) = A(x_1, x_2)$. If $x_2 \leq x_3$, then $x_2 * x_3 = 1$, and so $x_3 \in A(x_2) \subseteq A(x_1, x_2)$. Also we have $A(x_1, x_2) = A(x_1, x_2, x_3)$ by Proposition 4.5. Continuing this process, we obtain our result.

The converse of Proposition 4.6 may not be true, since A(a) = A(d, a) = A(d, a, b) = X, but $a \nleq b$ in Example 2.1(3).

I

5. Krull dimension and regular sequences

In this section, we introduce the notion of Krull dimension of a BE-algebra X and the notion of regular sequences in a BE-algebra X, and provide the relation between these ones. Let us denote X and \mathbb{N} by as before in Section 4, unless otherwise specified.

Now, we consider a chain

$$\mathbb{F}: \quad F_0 = \{1\} \subset F_1 \subset F_2 \subset \cdots \subset F_n = X$$

of distinct filters in X. If n is finite, then we say that \mathbb{F} is a *finite chain* in X and n is the *length* of \mathbb{F} . Otherwise, \mathbb{F} is said to be an *infinite chain* in X. In Example 2.1(3), if we let

$$\begin{split} \mathbb{F}: & F_0 = \{1\} \subset F_1 = \{1, a, c\} \subset F_2 = X, \\ \mathbb{G}: & G_0 = \{1\} \subset G_1 = \{1, a\} \subset G_2 = \{1, a, b\} \subset G_3 = X, \\ \mathbb{H}: & H_0 = \{1\} \subset H_1 = \{1, a\} \subset H_2 = \{1, a, c\} \subset H_3 = X, \end{split}$$

then \mathbb{F} is a finite chain of length 2, and both \mathbb{G} and \mathbb{H} are finite chains of length 3 in X.

Definition 5.1. The maximal length of any chain of distinct filters in X is called the Krull dimension of X, denoted by Kdim(X), and this chain with the maximal length is said to be a maximal chain of distinct filters in X.

Example 5.1.

- (1) Let X be as before in Example 2.1(1). If X is an infinite set, then $\operatorname{Kdim}(X) = \infty$, and if |X| = n, then $\operatorname{Kdim}(X) = n 1$, since every non-empty subset containing 1 is a filter of X.
- (2) In Example 2.1(3), we obtain that $\operatorname{Kdim}(X) = 3$, since

$$\mathbb{F}: \quad F_0 = \{1\} \subset F_1 = \{1, a\} \subset F_2 = \{1, a, b\} \subset F_3 = X$$

is a maximal chain of distinct filters in X.

Proposition 5.1. Let X be self distributive. If

$$\mathbb{F}: \quad F_0 = \{1\} \subset F_1 \subset F_2 \subset \cdots \subset F_n = X$$

is a maximal chain of distinct filters in X, then each $F_k = A(x_1, x_2, \dots, x_k)$ for some $x_i \in F$.

Proof. First we know that $F_0 = \{1\} = A(1)$. Since F_1 is a filter of X, if we take $x_1 \neq 1$ in F_1 , then $F_0 = \{1\} \subset A(x_1) \subseteq F_1$ by Corollary 3.2. Since $A(x_1)$ is a filter of X, if $F_1 \neq A(x_1)$, this contradicts to the maximality, and so $F_1 = A(x_1)$. Now, we take $x_2 \in F_2 \setminus F_1$. Then $F_1 = A(x_1) \subset A(x_1, x_2) \subseteq F_2$ by Proposition 4.1 and Theorem 4.1. Since $A(x_1, x_2)$ is also a filter of X, if $F_2 \neq A(x_1, x_2)$, this contradicts to the maximality, and so $F_2 = A(x_1, x_2)$. Continuing this process, we have that each $F_k = A(x_1, x_2, \dots, x_k)$ for some $x_i \in F$.

Corollary 5.1. Let X be self distributive. If Kdim(X) = n, then there exists a chain of distinct extended upper sets in X as follows:

$$\mathbb{F}: \ A(1) = \{1\} \subset A(x_1) \subset A(x_1, x_2) \subset \dots \subset A(x_1, x_2, \dots, x_n) = X.$$

Proof. Assume that Kdim(X) = n. Then there exists a maximal chain

$$\mathbb{F}: \quad F_0 = \{1\} \subset F_1 \subset F_2 \subset \cdots \subset F_n = X$$

of distinct filters in X. It follows from Proposition 5.1 that each F_k has of the form $A(x_1, x_2, \dots, x_k)$ for some $x_i \in F$. Hence we have our result.

Theorem 5.1. Let X be self distributive. Then Kdim(X) = n if and only if there exists a maximal chain of distinct upper sets in X as follows:

$$\mathbb{F}: \ A(1) = \{1\} \subset A(x_1) \subset A(x_1, x_2) \subset \dots \subset A(x_1, x_2, \dots, x_n) = X.$$

Proof. Assume that Kdim(X) = n. By Corollary 5.1, there exists a chain

$$\mathbb{F}: \quad A(1) = \{1\} \subset A(x_1) \subset A(x_1, x_2) \subset \dots \subset A(x_1, x_2, \dots, x_n) = X$$

of distinct upper sets in X. If \mathbb{G} is another chain of distinct upper sets in X with length m, then $n \geq m$, since all upper sets are filters of X by Theorem 4.3. Hence \mathbb{F} is a maximal chain of distinct upper sets in X. Conversely, assume that

$$\mathbb{F}: \ A(1) = \{1\} \subset A(x_1) \subset A(x_1, x_2) \subset \dots \subset A(x_1, x_2, \dots, x_n) = X$$

is a maximal chain of distinct upper sets in X. Since all $A(x_1, x_2, \dots, x_k)$ are filters of X, $\operatorname{Kdim}(X) \ge n$. Let $\operatorname{Kdim}(X) = m$. By Corollary 5.1, there exists a chain

$$A(1) = \{1\} \subset A(y_1) \subset A(y_1, y_2) \subset \dots \subset A(y_1, y_2, \dots, y_m) = X$$

of distinct upper sets in X. Since \mathbb{F} is a maximal chain of distinct upper sets in X, $n \geq m$. Hence n = m.

Definition 5.2. A sequence a_1, a_2, \dots, a_n in X is called regular if it is a maximal sequence in X such that $1 = a_0 \ge a_1 \ge a_2 \ge \dots \ge a_n$ and $A(a_{k-1}) \ne A(a_k)$ for any $k = 1, 2, \dots, n$.

Remark 5.1. Let a_1, a_2, \dots, a_n be a regular sequence in X. Then the condition $A(a_{k-1}) \neq A(a_k)$ is equivalent to $a_{k-1} \not\leq a_k$, for any $k = 1, 2, \dots, n$, since we have that $a_{k-1} \geq a_k$. See Corollary 3.6.

Example 5.2.

- (1) In Example 2.1(1), every regular sequence in X is of the form $1 \ge x$ for any $x \in X$.
- (2) In Example 2.1(2), there are only two regular sequences in X, i.e., $1 \ge a \ge c$ and $1 \ge b \ge c$. And $1 \ge a \ge c \ge d$ is only a regular sequence in X, which was defined in Example 2.1(3).

Lemma 5.1. Let X be self distributive. If a_1, a_2, \dots, a_n is a regular sequence in X, then $A(1) = \{1\} \subset A(a_1) \subset A(a_2) \subset \dots \subset A(a_n)$ is a chain of distinct upper sets in X.

Proof. It follows from Theorem 3.4 and Definition 5.2.

Proposition 5.2. Let X be self distributive and let a_1, a_2, \dots, a_n be a regular sequence in X. Then

$$\mathbb{F}: A(1) = \{1\} \subset A(a_1) \subset A(a_1, a_2) \subset \dots \subset A(a_1, a_2, \dots, a_n) = X$$

is a chain of distinct upper sets in X.

Proof. By Proposition 4.1, we can see that

 $A(1) = \{1\} \subseteq A(a_1) \subseteq A(a_1, a_2) \subseteq \dots \subseteq A(a_1, a_2, \dots, a_n)$

is a chain of upper sets in X. By applying Proposition 4.5 and Lemma 5.1, we have $A(a_k) = A(a_1, a_2, \dots, a_k)$ for any $k = 1, 2, \dots, n$. It follows from Lemma 5.1 that \mathbb{F} is a chain of distinct upper sets in X.

Combining this proposition with Theorem 5.1, we have directly the following result.

Corollary 5.2. Let X be self distributive. If a_1, a_2, \dots, a_n is a regular sequence in X, then $\operatorname{Kdim}(X) \geq n$.

Theorem 5.2. Let X be self distributive and let a_1, a_2, \dots, a_n be a regular sequence in X. If $A(a_n) = X$, then $\operatorname{Kdim}(X) = n$. Moreover,

 $\mathbb{F}: A(1) = \{1\} \subset A(a_1) \subset A(a_2) \subset \cdots \subset A(a_n) = X$

is a maximal chain of distinct upper sets in X.

Proof. By Corollary 5.2, $\operatorname{Kdim}(X) \ge n$. Let $\operatorname{Kdim}(X) = m$. Then we have a maximal chain of distinct upper sets in X as follows:

$$A(1) = \{1\} \subset A(x_1) \subset A(x_1, x_2) \subset \dots \subset A(x_1, x_2, \dots, x_m) = X,$$

by Theorem 5.1. Since $A(a_n) = X = A(x_1, x_2, \dots, x_m)$, $a_n \leq x_k$ for any $k = 1, 2, \dots, m$ by Proposition 4.4. Now, we show that $A(x_{k-1}) \neq A(x_k)$ for any $k = 1, 2, \dots, m$, where $x_0 = 1$. For any $k = 1, 2, \dots, m$, if $A(x_{k-1}) = A(x_k)$, then $x_{k-1} * x_k = 1$, and hence $x_k \in A(x_1, x_2, \dots, x_{k-1})$. This means that $A(x_1, x_2, \dots, x_{k-1}) = A(x_1, x_2, \dots, x_{k-1}, x_k)$ by Proposition 4.5, which is a contradiction. Thus every sequence satisfying the regularity in $\{x_1, x_2, \dots, x_m\}$ has a length $\leq m + 1$. Since a_1, a_2, \dots, a_n is a regular sequence in $X, m + 1 \leq n$, and hence $m \leq n$, i.e., m = n. Finally, if follows from Lemma 5.1 and Proposition 5.2 that \mathbb{F} is a maximal chain of distinct upper sets in X.

References

- S. S. Ahn and K. S. So, On ideals and upper sets in *BE*-algebras, *Sci. Math. Jpn.* 68 (2008), no. 2, 279–285.
- [2] K. Iséki, On BCI-algebras, Math. Sem. Notes Kobe Univ. 8 (1980), no. 1, 125–130.
- [3] K. Iséki and S. Tanaka, An introduction to the theory of BCK-algebras, Math. Japon. 23 (1978/79), no. 1, 1–26.
- [4] Y. B. Jun, E. H. Roh and H. S. Kim, On BH-algebras, Sci. Math. 1 (1998), no. 3, 347–354 (electronic).
- [5] H. S. Kim and Y. H. Kim, On BE-algebras, Sci. Math. Jpn. 66 (2007), no. 1, 113–116.
- [6] J. Neggers and H. S. Kim, On d-algebras, Math. Slovaca 49 (1999), no. 1, 19–26.
- [7] S. Z. Song, Y. B. Jun and K. J. Lee, Fuzzy ideals in BE-algebras, Bull. Malays. Math. Sci. Soc. (2) 33 (2010), no. 1, 147–153.